'|' H1

ATTACHED TO WALL OR ROOF EXISTING BUILDING 1

@ HEADER _/

INSULATED S|l i
ALUMINUM ROOF g o
PANELS HENETH @ ™
" =
o or
) i
(/9] aon
B :2> 3"X8" BEAM 3=40)
@ 3"X3" POST g% %
| y [ | | | | A . | ego
GUTTER Mz & E L
\ ROOF WIDTH / 385
@ 3'X8" BEAM E E
iy OPEN = OPTIONAL RAFTER ENDS
© ©
[ | ATTACHED STRUCTURE
) POST SPACING -

Do Crver Kt / ALUMAWOOD




ROOF
SPAN

:2) 3"X8" BEAM

INSULATED
ALUMINUM
PANELS

:2) 3"X8" BEAM

ROOF

LEN

GTH

11 11 11
@ 3"X8" BEAM

/////////’—“OPEN

POST SPACING

OPTIONAL RAFTER ENDS

CONCRETE DECK (FOR DIFFERENT /

CONDITIONS REFER TO SITE
SPECIFIC ENGINEERING)

FREESTANDING STRUCTURE

S o o | ALUMAWOOD




2% 7

N 1/2" 1/2
A2 7 13 B B
4"
—0.125" T —0.125" L
3 —y e I —0.125" 39" 125" 5" ! 5" |l—o.125"
) 5
3" —0.125" l N \ =
{ { { — \
3" X 3" Post 3" X 8" Beam 2" X 6" Rafter Header E-Gutter Fascia
13" *//‘ <
23,
T " 7 ERL Rafter Ends
l " / P
B @ %
Receiving Channel Post "C" Channel Post Bracket Scalloped Beveled % @

End Caps
2'OR 4 / @ @
— S Corbel Mitered
FEMALE
T COMPONENTS
MALE

Insulated Aluminum Panel

Pt Cover K / ALUMAWOOD




2 %" X 2 %" Aluminum Bracket w/

1/4” or 3/8” Tapcons On Each Side

3"X3"” POST WITH
16" MIN EMBEDMENT

2"X6" RAFTER
ATTACHED TO
E-GUTTER W/

2”X6” RECEIVING CHANNEL W/
(3) #12 TEKS EACH SIDE
OF LEDGER AND RAFTER

#12 TEK SCREWS

INSULATED ALUM. PANEL ATTACHED TO
CARRY BEAM W/ #14 TEK SCREWS W/1”
NEOPRENE WASHER @ 11" 0.C.

#14 TEK Screws

(3) #14 TEK Screws On Each Side\
OR (3) Thrubolts On Each Side

7_/
</ | 3'X3"POST

CONCRETE SLAB OR FOOTING

1/4" or 3/8” Thrubolts

POST ATTACHMENT (ATTACHED)

2% X 2 %" C Channel w/ (3)
#14 TEK Screws On Each Side

3" X 3" POST

POST TO BEAM CONNECTION

(4) #12 TEK Screws

o
\ |

\
2°X6”_Raftér

24" 0.C.

o

POST COVER CONNECTION

§(Min 2 %" Embedment Into Concrete)

(PER SITE SPECIFIC ENGINEERING)

(4) 14 TEK Screws

\ 2”X6” Rafters Attached to Beam
and Post w/ #12 TEK Screws @

/' #5 BAR 12” LONG THRU COLUMN

I
3"X 3" POST ——
|

e/

. A
WELL Py
COMPACT FILL

VARIES

VARIES

NOTE: FOOTING SIZE AND
REINFORCEMENT PER
SITE SPECIFIC ENGINEERING

POST ATTACHMENT (FREESTANDING)

3" OR 4" HEADER W/ #12 TEK 4
Screws TOP & #12 NyloTec Screws . A

BOTTOM @ 11" O.C. EXISTING

/ CBS WALL
3

.-
<>oOoQ d @ E“—_""""’

\ 3” INSULATED L

ALUMINUM PANEL o

<
"~ WX 2 %" TAPCONS
@ 16” 0.C. (MAX.)

INSULATED PANEL TO CBS WALL

@
@)

\ @ @ 8” 0.C.
\
oris/ o
2"X6" RAFTER LL_ g E
(2T 0.C) T [°T % @8|
L < h
N

&
.

11" 0.C. Top and Bottom

o
#12 TEK Screws @ /

3"X8" RAFTER

2"X6" DECO COVER
+ BEAM

©
®
©

2"X6" DECO COVER

DECO RAFTER DETAIL

3" OR 4" HEADER W/ #12 TEK

Screws TOP & #12 NyloTec Screws

BOTTOM @ 11" O.C.

\
Lo

%W'x2" LAGS 16" 0.C.
ALONG HEADER.

p 2" NOMINAL FASCIA /(2)
\ @ 1" NOM. FASCIA / 1* NOM.
3% INSULATED FASCIA + 2" SUB FASCIA

ALUMINUM PANEL

CONT. SHIM ANGLE
(FOR SLOPED FASCIA)

INSULATED PANEL TO FASCIA

Dattr Cover K

CONNECTIONS

/ ALUMAWOOD




ez

#12x1" TEK Screws #14x1" TEK Screws

N

R

#14x5" TEK Screws w/
Neoprene Washer

FOR 3” INSULATED PANELS

1/4"x2 1/4" Tapcon Screws

1/4"x2" Lag Screws

#12x1" NyloTec Screws

#14x6" TEK Screws w/

~

Caulki
~-auxing Peel & Seal

(White or Bronze)

Neoprene Washer

FOR 4” INSULATED PANELS

3/8"x3 1/2" Hex Bolts

QO

3/8" Washers 3/8" Plastic Caps

HARDWARE

ot Cover K

/ ALUMAWOOD




